
 

 

1 



 

 

2 

NDA MATHS  
1. If the roots of a quadratic equation are 

m + n and m – n, then the quadratic 

equation will be - 

(A) x
2
 + 2 mx + m

2
 – mn + n

2
 = 0 

(B) x
2
 + 2 mx + ( m - n)

2
 = 0 

(C) x
2
 - 2 mx + m

2
 – n

2
 = 0   

(D) x
2
 + 2 mx + m

2
 – n

2
 = 0 

2. If α, β are the roots of x
2
 + px – q = 0 

and γ, δ are the roots of x
2
 - px + r = 0 

then what is (β+γ) (β+δ) equal to ? 

(A) p + r  (B) p + q 

(C) q + r  (D) p - q 

3. Consider the following statement - 

1. The sum of cubes of first 20 natural 

numbers is 44400.    

2. The sum of squares of first 20 

natural unmbers is 2870. 

Which of the above statements is/are 

correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  

(D) Ncither 1 nor 2 

4. Consider the following statement – 

1. (ω10
 + 1)

7
 + ω = 0 

2. (ω105
 + 1)

10
 – p10 for some prime 

number p 

Where ω ≠ 1 is a cubic root of unity. 

Which of the above statements is/are 

correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2(D) Ncither 1 nor 2 

5. What is the sum of first etght terms of 

the series 1- 
 

 
 + 

 

 
 - 
 

 
 + …… ?  

(A) 
  

   
 (B) 

  

   
 (C) 

  

   
 

(D) None of the above 

6. The number of permutations that can 

be formed from all the letters of the 

word 'BASEBALL' is - 

(A) 540  (B) 1260 

(C) 3780  (D) 5040 

 

 

1- ;fn fdlh f}?kkr lehdj.k ds ewy m + n vkSj 

m - n gksa] rks og f}?kkr lehdj.k D;k gksxk \ 

(A) x
2
 + 2 mx + m

2
 – mn + n

2
 = 0  

(B) x
2
 + 2 mx + ( m - n)

2
 = 0 

(C) x
2
 - 2 mx + m

2
 – n

2
 = 0   

(D) x
2
 + 2 mx + m

2
 – n

2
 = 0 

2- ;fn x
2
 + px – q = 0 ds ewy α, β  gksa ,oa 

x
2
 - px + r = 0 ds ewy γ, δ gksa] rks (β+γ) 

(β+δ) fdlds cjkcj gksxk \ 

(A) p + r  (B) p + q 

(C) q + r  (D) p - q 

3- fuEufyf[kr dFkuksa ij fopkj dhft;s & 

1- izFke 20 /kuiw.kkZdksa ds ?kuksa dk ;ksx 44400 

gSA 

2- izFke 20 ?kuiw.kkZdksa ds oxksZ dk ;ksx 2870 

gSA 

mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 
(C) 1 vkSj 2 nksuksa dh  
(D) u rks 1 u gh 2 

4- fuEufyf[kr dFkuksa ij fopkj dhft;s %& 

1- (ω10
 + 1)

7
 + ω = 0  

2. (ω105
 + 1)

10
 = p10  fdlh vHkkT; la[;k p ds 

fy;sA 

tgk¡ ω ≠ 1 ,d dk ?kuewy gSA mi;qZDr 
dFkuksa esa dkSu&lk@ls lgh gS@gSa \ 

(A) dsoy 1  (B) dsoy 2 
(C) 1 vkSj 2 nksuksa dh gSA (D) u rks 1 u 
gh 2 

5- Js.kh 1- 
 

 
 + 

 

 
 - 
 

 
 + …… ds izFke vkB inksa 

dk ;ksx D;k gS \ 

(A) 
  

   
 (B) 

  

   
     (C) 

  

   
 

(D) mi;qZDr esa dksbZ ugha 
6- 'kCn 'BASBALL' ds lHkh v{kjksa ls cu 

ldus okys Øep;ksa dh la[;k D;k gS\ 

(A) 540   (B) 1260 
(C) 3780   (D) 5040 
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7. The relation 'has the same father as' 

over the set of children is - 

(A) only reflexive (B) only symmetric 

(C) only transitive      

(D) an equivalence relation 

8. If the roots of the quadratic equation 

3x
2
 – 5x + p = 0 are real an unequal, 

then which one of the following is 

corret ? 

(A) p = 25/12 (B) P < 25/12 

(C) p > 25/12 (D) p ≤ 25/12 

9. The decimal representation of the 

number (1011)2 in binary system is - 

(A) 5     (B) 7      (C) 9 (D) 11 

10. The decimal number (57.375)10 when 

converted to binary number takes the 

form - 

(A) (111001.001)2 (B) (100111.110)2 

(C) (110011.101)2 (D) (111011.001)2 

11. If ( o   x) ( o   2 x) ( o    y) =  o   
x

2
 , then what is y equal to ? 

(A) 4.5      (B) 9      (C) 18        (D) 27 

12. Let P = {1, 2, 3} and a relation on set 

P is given by the set R = {(1, 2),(1, 3), 

(2, 1), (1, 1), (2, 2), (3, 3), (2, 3)}. 

Then  R is - 

(A) Reflexive, transitive but not 

symmetric  

(B) Symmetric, transitive but not 

reflexive 

(C) Symmetric, reflexive but not 

transitive  

(D) None of the above 

13. The value of the sum  ∑ (     
   

    ) where i = √   is -  

(A) i   (B) – i     (C) 0 (D) i – 1 

FOR THE NEXT TWO (02) 

QUESTIONS THAT FOLLOW : 

The sum of first 10 terms and 20 

terms of an AP are 120 and 440 

respectively. 

14. What is its first term ? 

(A) 2     (B) 3      (C) 4 (D) 5 

7- cPpksa ds leqPp; ij] lEcU/k ^bldk firk ogh 

gS tks mldk*] D;k gS\ 

(A) dsoy LorqY; (B) dsoy lefer 
(C) dsoy laØked (D) ,d rqY;rk lEcU/k 

8- ;fn f}?kkr lehdj.k 3x
2
 – 5x + p = 0 ds 

ewy okLrfod ,oa vleku gSa] rc fuEufyf[kr 

esa dkSu&lk ,d lgh gS\ 

(A) p = 25/12 (B) P < 25/12 

(C) p > 25/12 (D) p ≤ 25/12 

9- f}&vk/kkjh i)fr dh la[;k (1011)2 dk 

n'kfed fu:i.k D;k gS\ 

(A) 5   (B) 7 
(C) 9   (D) 11 

10- n'keyo la[;k (57.375)10  dks f}&vk/kkjh 

la[;k esa cnyus ij bldh :i D;k gksxk \ 

(A) (111001.001)2 (B) (100111.110)2 

(C) (110011.101)2 (D) (111011.001)2 

11- ;fn ( o   x) ( o   2 x) ( o    y) = 

 o   x
2  
rc y fdlds cjkcj gS\ 

(A) 4-5  (B) 9 
(C) 18   (D) 27 

12- eku yhft; s P = {1, 2, 3} ,oa leqPp; P ij 
lEcU/k] leqPp; R = {(1, 2),(1, 3), (2, 1), 

(1, 1), (2, 2),   (3, 3), (2, 3)}}kjk fn;k 

x;k gSA rks R D;k gksxk \ 

(A) LorqY;] laØked fdUrq lefer ugha   
(B) lefer] laØked fdUrq LorqY; ugha 
(C) lefer] LorqY; fdUrq laØked ugha   
(D) mi;qZDr esa dksbZ ugha 

13- ;ksx ∑ (       )  
    dk eku] tgk¡ i = 

√     D;k gS\ 
(A) i   (B) - i 

(C) 0   (D) i – 1 

vkxs vkus okys nks ¼02½ iz'uksa ds fy;s % 

fdlh lekUrj Js.kh ds izFke 10 inksa ,oa 20 

inksa dk ;ksx Øe'k% 120 rFkk 440 gSA 

14- bldk izFke in D;k gS \ 

(A) 2       (B) 3    (C) 4     (D) 5 
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15. What is the common difference ? 

(A) 1       (B) 2      

(C) 3     (D) 4 

16. If a non-empty set A contains n 

elements, then its power set contains 

how many elements ? 

(A) n
2
      (B) 2n       (C) 2n     

(D) n + 1 

17. Let A = {x ϵ W, the set of whole 

numbers and x < 3 } , B = {𝒳 ϵ N, the 

set of natural numbers and 2 ≤ x < 4} 

and C = {3, 4}, then how many 

elements will (A ∪ B) x C contain ? 

(A) 6     (B) 8       (C) 10       (D) 12 

18. What is the modulus of  
√   

√   
 where i 

= √    ? 

(A) 3   (B) 1/2 

(C) 1   (D) None of the 

above 

19. What is the number of diagonals 

which can be drawn by joining the 

angular points of a polygon of 100 

sides ? 

(A) 4850  (B) 4950 

(C) 5000  (D) 10000 

20. The angles of a triangle are in AP and 

the least angle is 30
0
. What is the 

greatest angle (in radian)? 

(A) 
 

 
    (B) 

 

 
        (C) 

 

 
 (D) π 

21. If each element in a row of a 

determinant is multiplied by the same 

factor r, then the value of the 

determinant - 

(A) is multiplied by r
3
  

(B) is increased by 3r 

(C) remains unchanged  

(D) is multiplied by r 

22. The inverse of a diagonal matrix is a - 

(A) symmetric matrix 

(B) skew-symmetrie matrix 

(C) diagonal martix  

(D) None of the above 

 

15- lkoZ vUrj D;k gS\ 

(A) 1   (B) 2 
(C) 3   (D) 4 

16- ;fn vfjDr leqPp; A esa n vo;o gSa] rks 

blds ?kkr leqPp; esa fdrus vo;o gSa\ 

(A) n
2
   (B) 2n 

(C) 2n  (D) n + 1 

17- eku yhft;s A = {x ϵ W, _.ksrj iw.kkZdksa dk 

leqPp; rFkk x < 3 } , B = {𝒳 ϵ N, 

/kuiw.kkZdksa dk leqPp; rFkk 2 ≤ x < 4} vkSj 

C = {3, 4}, rc (A ∪ B) x C esa fdrus 

vo;o gksaxs \ 

(A) 6   (B) 8 

(C) 10  (D) 12 

18- 
√   

√   
   tgk¡ i = √    dk ekikad D;k gS\ 

(A) 3   (B) 1/2 

(C) 1   (D) mi;qZDr esa dksbZ 
ugha 

19- 100 Hkqtkvksa okys cgqHkqt ds dks.kh; fcUnqvksa dks 

feykdj [khaps tk ldus okys fod.kksZ dh la[;k 

D;k gksxh \ 

(A) 4850   (B) 4950 
(C) 5000   (D) 10000 

20- fdlh f=Hkqt ds dks.k lekUrj Js.kh esa gSa ,oa 

U;wure dks.k 30
0

 gSA c`gÙke dks.k ¼jsfM;e esa½ 

D;k gS\  

(A) 
 

 
     (B) 

 

 
        (C) 

 

 
 (D) π 

21- ;fn fdlh lkjf.kd dh ,d iafDr ds izR;sd 

vo;oksa dks leku xq.kd r ls xq.kk fd;k tk;s] 
rks ml lkjf.kd dk eku & 

(A) r3 
ls xqf.kr gks tk;sxk  

(B) 3r c<+ tk;sxk 
(C) fLFkj jgsxk   
(D) r ls xqf.kr gks tk;sxk 

22- fod.kZ vkO;wg dk O;qRØe& 

(A) lefer vkO;wg gksrk gS  
(B) fo"ke lefer vkO;wg gksrk gS 
(C) fod.kZ vkO;wg gksrk gS  
(D) mi;qZDr esa dksbZ ugha 



 

 

5 

23. If A = [
  
  
  

] and B = *
   
   

+ , 

then. Which one of the following is 

correct ? 

(A) B is the inverse of A 

(B) B is the adjoint of A 

(C) B is the transpose of A   

(D) None of the above 

24. If the sum of the matrices 

[ 

  
 
 
 ]  [ 

  
 
 
 ] and [ 

  
 
 
 ]  is the matrix 

[ 
   
 
 
 ], then what is the value of y ? 

(A) -5   (B) 0 

(C) 5   (D) 10 

25. If the matrix AB is a zero matrix, then 

which one of the following is correct 

? 

(A) A must be equal to zero matrix or 

B must be equal to zero matrix .  

(B) A must be equal to zero matrix 

and B must be equal to zero matrix 

(C) It is not necessary that either A is 

zero matrix or B is zero matrix  

(D) None of the above 

26. If the matrix [
   
    
    

] is not 

invertible, then - 

(A) α = -5  (B) α = 5 

(C) α = 0  (D) α = 1 

27. The  value of the determinant 

[

        

        

        
] is – 

(A) 0    

(B)    +    +    
(C)    +    +   + 1  

(D) None of the above 

 

 

23- ;fn A = [
  
  
  

] vkSj B = *
   
   

+, 

rc 

fuEufyf[kr esa dksSu&lk ,d lgh gS\ 

(A) A dk O;qRØe B gS 
(B) A dk lg[kaMt B gS 
(C) A dk ifjorZ B gS  
(D) mi;qZDr esa dksbZ ugha 

24- ;fn vkO;wg [ 

  
 
 
 ]  [ 

  
 
 
 ] ,oa  [ 

  
 
 
 ] dk ;ksx 

vkO;wg [ 
   
 
 
 ], gks] rks y dk eku D;k gS\ 

(A) -5   (B) 0 

(C) 5   (D) 10 

25- ;fn vkO;wg AB 'kwU; vkO;wg gks] rks 

fuEufyf[kr esa dksSu&lk ,d lgh gS \ 

(A) A 'kwU; vkO;wg ds cjkcj gksuk gh pkfg,] 

vFkok B 'kwU; vkO;wg ds cjkcj gksuk gh 

pkfg,   
(B) A 'kwU; vkO;wg ds cjkcj gksuk gh pkfg,] 

rFkk B 'kwU; vkO;wg ds cjkcj gksuk gh 

pkfg,  
(C)  ;g t:jh ugha fd ;k rks A 'kwU; vkO;wg 

gks vFkok B 'kwU; vkO;wg gks   
(D) mi;qZDr esa dksbZ ugha 

26- ;fn vkO;wg [
   
    
    

] O;qRØe.kh; 

vkO;wg gS] rks & 

(A) α = -5  (B) α = 5 

(C) α = 0  (D) α = 1 

27- lkjf.kd [

        

        

        
] dk eku D;k 

gS\ 

(A) 0  (B)    +    +    
(C)    +    +   + 1  
(D) mi;qZDr esa dksbZ ugha 
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28. A square matrix [   ] such that     = 0 

for i ≠ j and       = k where k is a 

constant for i = j is called - 

(A) diagonal matrix, but not scalar 

matrix  

(B) scalar matrix 

(C) unit matrix    

(D) None of the above 

29. What is the value of sin 15
0
 ? 

(A) 
√   

 √ 
  (B) 

√   

 √ 
 

(C) 
√   

√   
  (D) 

√   

√   
 

30. If 4 sin
2
 θ =    where   < θ <  π  

how m ny v  ues does θ t ke ? 
(A) 1   (B) 2 

(C) 4       (D) None of the above 

31. What is the value of sin 18
0
 cos 36

0
 

equal to ? 

(A) 4   (B) 2 

(C) 1   (D) 1/4 

32. What is sin *     (
 

 
)       (

 

 
)+ 

equal to ? 

(A) 0   (B) 1/2 

(C) 1   (D) 2 

33. If sec α = 
  

 
 where 270

0
 < α < 360

0
, 

then what is sin α equal to ? 

(A) 5/13  (B) 12/13 

(C) -12/13  (D) -13/12 

34. What is tan (-585
0
) equal to ? 

(A) 1   (B) -1 

(C) -√   (D) -√  

35. Consider the following statements - 

1.  The value of cos 46
0
- sin 46

0 
is 

posititve.  

2.  The value of cos 44
0
- sin 44

0 
is 

negatitve. 

Which of the above statements is/are 

correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  

(D) Neither 1 nor 2 

28- dksbZ oxZ vkO;wg [   ] bl izdkj fd     = 0 , 

i ≠ j ds fy, rFkk      = k , i = j ds fy,] 
tgk¡ k ,d vpj gS] D;k dgykrk gS\ 

(A) fod.kZ vkO;wg fdarq vfn'k vkO;wg ugha  
(B) vfn'k vkO;wg 
(C) bdkbZ vkO;wg  
(D) mi;qZDr esa dksbZ ugha 

29- sin 15
0
 dk eku D;k gS\ 

(A) 
√   

 √ 
  (B) 

√   

 √ 
 

(C) 
√   

√   
  (D) 

√   

√   
 

30- ;fn 4 sin
2
 θ =     tgk¡   < θ <  π  rc 

θ fdrus eku ysrk gS\ 

(A) 1   (B) 2 
(C) 4   (D) mi;qZDr esa dksbZ 
ugha 

31- sin 18
0
 cos 36

0
  dk eku fdlds cjkcj gS\ 

(A) 4   (B) 2 

(C) 1   (D) 1/4 

32- sin *     (
 

 
)       (

 

 
)+ fdlds 

cjkcj gS\ 

(A) 0   (B) 1/2 

(C) 1   (D) 2 

33- ;fn sec α = 
  

 
 tgk¡ 270

0
 < α < 360

0
, rks 

sin α fdlds cjkcj gS\ 

(A) 5/13  (B) 12/13 

(C) -12/13  (D) -13/12 

34- tan (-585
0
)  fdlds cjkcj gS\ 

(A) 1   (B) -1 

(C) -√   (D) -√  
35- fuEufyf[kr dFkuksa ij fopkj dhft;s & 

1- cos 46
0
- sin 46

0  
dk eku /kukRed gSA  

2- cos 44
0
- sin 44

0  
dk eku /kukRed gSA  

mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1   
(B) dsoy 2 
(C) 1 vkSj 2 nksuksa gh  
(D) u rks 1 u gh 2 
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36. The line making an angle (-120
0
) with 

x-axis is situated in the - 

(A) first quadrant  

(B) second quadrant 

(C) third quadrant  

(D) fourth quadrant 

37. The angle subtended at the centre of a 

circle of radius 3 cm by an arc of 

length 1 cm is - 

(A) 
   

 
  (B) 

   

 
 

(C) 60
0
   

(D) None of the above 

38. If sin A = 
 

√ 
 and cos B = 

 

√  
  where 

A and B are acute angles, then what is 

A + B equal to ? 

(A) 135
0
  (B) 90

0
  

(C) 75
0
  (D) 60

0
  

39. The top of a hill observed from the 

top and bottom of a building of height 

h is at angles of elevation α and β 

respectively. The height of the hill is - 

(A) 
      

         
 (B) 

      

             
 

(C) 
      

             
  

(D) None of the above 

40. From the top of a lighthouse 70 m 

high with its base at sea level, the 

angle of depression of a boat is 15
0
. 

The distance of the boat from the foot 

of the lighthouse is - 

(A) 70 (2 - √ ) m (B) 70 (2 + √ ) m 

(C) 70 (3 - √ ) m (D) 70 (3 + √ ) m 

41. The locus of a point equidistant from 

three collinear points is - 

(A) a straight line (B) a pair of points 

(C)  a point  (D) the null set 

42. The equation to the locus of a point 

which is always equidistant from the 

points (1, 0) and   (0, -2) is - 

(A) 2x + 4y + 3 = 0 

(B) 4x + 2y + 3 = 0 

(C) 2x + 4y - 3 = 0 (D) 4x + 2y - 3 = 0 

36- x-v{k ls (-120
0
)  dk dks.k cukus okyh js[kk 

fdl prq/kkZ'k esa vofLFkr gS\ 

(A) izFke prqFkkZ'k (B) f}rh; prqFkkZ'k 
(C) r`rh; prqFkkZ'k (D) prqFkZ prqFkkZ'k 
 

37- 3 cm f=T;k ds o`Ùk ds dsUnz ij 1 cm yCkkbZ 

ds pki }kjk d{kkarfjr dks.k D;k gS\ 

(A) 
   

 
  (B) 

   

 
 

(C) 60
0  

(D) mi;qZDr esa dksbZ ugha 

38- ;fn sin A = 
 

√ 
  rFkk cos B = 

 

√  
   tgk¡ A 

vkSj B U;wudks.k gSa] rc A + B fdlds cjkcj 

gS 

(A) 135
0
  (B) 90

0
  

(C) 75
0
  (D) 60

0  
39- fdlh igkMh dk f'k[kj] h Å¡pkbZ okyh ,d 

bekjr ds 'kh"kZ vkSj ry ls Øe'k% mUu;u dks.k 

α rFkk β ij izsf{kr gksrk gSA ml igkM+h dh 
Å¡pkbZ D;k gS\ 

(A) 
      

         
 (B) 

      

             
 

(C) 
      

             
  

(D) mi;qZDr esa dksbZ ugha 
40- 70 ehVj Å¡pkbZ okys fdlh ,d izdk'k ?kj ls] 

ftldk vk/kkj leqnz ry ij gS] fdlh uko dk 

voueu dks.k 15
0 
gSA ml izdk'k ?kj ds ikn 

ls ml uko dh nwjh D;k gS\ 

(A) 70 (2 - √ ) m (B) 70 (2 + √ ) m 

(C) 70 (3 - √ ) m (D) 70 (3 + √ ) m 

41- rhu lajs[k fcUnqvksa ls lenwjLFk fdlh fcUnq dk 

fcUnqiFk D;k gS\ 

(A) ljy js[kk  (B) fcUnq ;qXe 
(C) fcUnq  (D) fjDr leqPp; 

42- fdlh fcUnq dk ml fcUnqiFk dk lehdj.k] tks 

fcUnqvksa (1, 0) ,oa (0,-2) ls ges'kk le nwjh 

ij gSa] D;k gS\ 

(A) 2x + 4y + 3 = 0  

(B) 4x + 2y + 3 = 0 

(C) 2x + 4y - 3 = 0  

(D) 4x + 2y - 3 = 0 
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43. The points (5, 1), (1, -1) and (11, 4) 

are - 

(A) collinear    

(B) vertices of right angled triangle 

(C) vertices of equilateral triangle  

(D) vertices of an isosceles triangle 

44. What is the perpendicular distance 

between the parallel lines 3x + 4y  = 9 

and 9x + 12y + 28 = 0 ? 

(A) 7/3 units  (B) 8/3 units 

(C) 10/3 units (D) 11/3 units 

45. Let p, q, r, s be the distances from 

origin of the points (2, 6), (3, 4), (4, 5) 

and (-2, 5) respectively. Which one of 

the following is a whole number ? 

(A) P   (B) q 

(C) r   (D) s 

46. From the point (4, 3) a perpendicular 

is droppcd on the x-axis as well as on 

the y-axis. If the lengths of 

perpendiculars are p, q respectively, 

then which one of the following is 

correct ? 

(A) p = q  (B) 3p = 4q 

(C) 4p = 3q  (D) p + q = 5 

47. What is the value of λ if the straight 

line         (2x + 3y + 4) + λ (6x - y + 

12) = 0 is parallel to y-axis ? 

(A) 3   (B) -6 

(C) 4   (D) -3 

48. The line y = 0 divides the line joining 

the points (3, -5) and (-4, 7) in the 

ratio - 

(A) 3 : 4  (B) 4 : 5 

(C) 5 : 7  (D) 7 : 9 

49. The sum of the focal distances of a 

point on the ellipse 
  

 
  

  

 
 = 1 is - 

(A) 4 unis  (B) 6 unis 

(C) 8 unis  (D) 10 unis 

50. The eccentricity e of an ellipse 

satisfies the condition - 

(A) e < 0  (B) 0 < e < 1 

(C) e = 1  (D) e > 1 

43- fcUnq (5, 1), (1, -1) rFkk (11, 4)  D;k gSa\ 

(A) lajs[k    
(B) ledks.k f=Hkqt ds 'kh"kZ 
(C) leckgq f=Hkqt ds 'kh"kZ    
(D) lef}ckgq f=Hkqt ds 'kh"kZ 

44- lekUrj js[kkvksa 3x + 4y  = 9 ,oa 9x + 12y 

+ 28 = 0 ds chp dh yEc nwjh D;k gS\ 
(A) 7/3 bdkbZ  (B) 8/3 bdkbZ 
(C) 10/3 bdkbZ  (D) 11/3 bdkbZ 

45- eku yhft, p, q, r, s fcUnqvksa (2, 6), (3, 4), 

(4, 5)  vkSj (-2, 5) ds ewyfoUnq ls Øe'k% 

nwfj;k¡ gSaA fuEufyf[kr esa dkSu&lk ,d] _.ksrj 

iw.kkZd gS\ 

(A) P   (B) q 

(C) r   (D) s 

46- fcUnq (4, 3) ls x&v{k ,oa y&v{k ij yEc 

Mkys x;s gSaA ;fn bu yEcksa dh yEckbZ;k¡ Øe'k% 

p, q gksa] rks fuEufyf[kr esa dkSu&lk ,d] lgh 
gS\  

(A) p = q  (B) 3p = 4q 

(C) 4p = 3q  (D) p + q = 5 

47- ;fn ljy js[kk (2x + 3y + 4) + λ (6x - y 

+ 12) = 0 y&v{k ds lekUrj gks] rks λ dk 
eku D;k gS\ 

(A) 3   (B) -6 

(C) 4   (D) -3 

48- js[kk y = 0 fcUnqvksa (3, -5) ,oa (- 4, 7) dks 

tksM+us okyh js[kk dks fdl vuqikr esa foHkkftr 

djrh gS \ 

(A) 3 : 4  (B) 4 : 5 

(C) 5 : 7  (D) 7 : 9 

49- nh?kZo`Ùk 
  

 
  

  

 
 = 1 ij fdlh fcUnq dh ukHkh; 

nwfj;ksa dk ;ksx D;k gS\ 

(A) 4 bdkbZ  (B) 6 bdkbZ 
(C) 8 bdkbZ  (D) 10 bdkbZ 

50- fdlh nh?kZo`Ùk dh mRdsUnzrk e fdl 'krZ dks 
lUrq"V djrh gS\ 

(A) e < 0  (B) 0 < e < 1 

(C) e = 1  (D) e > 1 
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51. The equation of a straight line which 

makes an angle 45
0
 with the x-axis 

with y-intercept 101 units is - 

(A) 10x + 101y = 1 

(B) 101x + y = 1 

(C) x + y  101 = 0  

(D) x - y + 101 = 0 

52. If the points (2, 4), (2, 6) and (2 + 

√    ) are the vertices of an 

equilateral tiangle. Then what is the 

value of k ? 

(A) 6    (B) 5      (C) -3 (D) 1 

53. If the distance between the points (7, 

1, -3) and (4, 5, λ) is 13 units, then 

what is one of the values of λ ? 

(A) 20    (B) 10    (C) 9 (D) 8 

54. If a line OP of length r (where 'O' is 

the origin) makes an angle α with x-

axis and lies in the xz-plane, then 

what are the coordinates of P ?  

(A) (r cos α, 0. r sin α) 

(B) (0,0, r sin α) 

(C) (r cos α, 0,0,) (D) (0,0, r cos α) 

55. What is the distance of the point (1, 2, 

0) from yz-plane is : 

(A) 1 unit  (B) 2 unit 

(C) 3 unit  (D) 4 unit 

56. What are the direction cosines of a 

line which is equally inclined to the 

positive directions of the axes ? 

(A) ⟨
 

√ 
 
 

√ 
 
 

√ 
⟩  

(B) ⟨ 
 

√ 
 
 

√ 
 
 

√ 
⟩ 

(C) ⟨ 
 

√ 
  

 

√ 
 
 

√ 
⟩   (D) ⟨

 

 
 
 

 
 
 

 
⟩ 

57. What is the englc between th lincs 
   

 
 

= 
     

  
 = 
     

 
 and 

   

 
 = 

      

 
 = 

     

 
 ? 

(A) 
 

 
  (B) 

 

 
 

(C) 
 

 
    (D) None of the above 

 

51- ml ljy js[kk dk lehdj.k D;k gS tks x-v{k 

ls 45
0 
dk dks.k cukrh gS rFkk bldk y-var% 

[kaM 101 bdkbZ gS\ 

(A) 10x + 101y = 1  

(B) 101x + y = 1 

(C) x + y  101 = 0  

(D) x - y + 101 = 0 

52- ;fn fcUnq (2, 4), (2, 6) ,oa (2 + √    ) 

fdlh leckgq f=Hkqt ds 'kh"kZ gksa] rks k dk eku 
D;k gS\ 

(A) 6     (B) 5      (C) -3 (D) 1 

53- ;fn fcUnqvksa (7, 1, -3) ,oa (4, 5, λ) ds chp 

dh nwjh 13 bdkbZ gks] rks  λ ds ekuksa esa ls ,d 
eku D;k gS\ 

(A) 20    (B) 10     (C) 9 (D) 8 

54- ;fn r yEckbZ dh js[kk OP ¼tgk¡ 'O' ewy&fcUnq 

gS½ x&v{k ls α dks.k cukrh gks rFkk xz&ry 
esa fLFkr gks] rks P ds funsZ'kkad D;k gSa\  

(A) (r cos α, 0. r sin α)  

(B) (0,0, r sin α) 

(C) (r cos α, 0,0,) (D) (0,0, r cos α) 

55- fcUnq (1, 2, 0)  dh yz&ry ls D;k nwjh gS\  

(A) 1 bdkbZ  (B) 2 bdkbZ 

(C) 3 bdkbZ  (D) 4 bdkbZ 
56- v{kksa dh /kukRed fn'kkvksa ls leku vkur js[kk 

dh   fnDdksT;k,a D;k gSa \ 

(A) ⟨
 

√ 
 
 

√ 
 
 

√ 
⟩  

(B) ⟨ 
 

√ 
 
 

√ 
 
 

√ 
⟩ 

(C) ⟨ 
 

√ 
  

 

√ 
 
 

√ 
⟩ (D) ⟨

 

 
 
 

 
 
 

 
⟩ 

 

57- js[kkvksa 
   

 
 = 

     

  
 = 
     

 
 ,oa 

   

 
 = 

      

 
 

= 
     

 
 ds chp dk dks.k D;k gS\ 

(A) 
 

 
   (B) 

 

 
 

(C) 
 

 
         (D) mi;qZDr esa dksbZ ugha 
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58. What is the equation to the plane through 

(1,2,3) parallel to 3x + 4y – 5z = 0 ? 

(A) 3x + 4y +5z + 4 = 0    

(B) 3x + 4y – 5z + 14 = 0  

(C) 3x + 4y – 5z + 4 = 0    

(D) 3x + 4y – 5z - 4 = 0  

59. What are the direction ratios of the line 

of lintcrsection of the plancs x = 3z + 4 

and y = 2z – 3 ? 

(A) 〈     〉  (B) 〈     〉 
(C) 〈     〉  (D) 〈     〉 

60. What is the equation to the straight line 

passing through (a, b, c) and parallel to z-

axis ? 

(A) 
   

 
 = 
     

 
 = 

     

 
    

(B) 
   

 
 = 
    

 
 = 

    

 
 

(C) ) 
   

 
 = 
    

 
 = 

    

 
    

(D) ) 
   

 
 = 

    

 
 = 

    

 
 

 

61. What is   m
   

 
√     

 
 equal to ? 

(A) 0    (B) ½    (C) 1 (D) -1/2 

62. What is   m
   

 
 (      )

  
 equal to ? 

(A) 0    (B) 1/2   (C) 1/4    (D) 1 

63. Consider the following : 

1.    m
   

 
 

  
  exists.    

2.    m
   

 
 

 
  does not exist. 

Which of the above is/are correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  (D) Neither  1 nor 2 

64. If x  y =   such that 
  

  
 = - 

 

 
   

then what should be the value of m ?  

(A) 0   (B) 1 

(C) 2    (D) None of the above 

65. Which one of the following is correct 

in respect of the function f (x) = 
  

 
 for 

x ≠ 0 and f (0) = 0 ?  

(A) f(x)  is discontinuous every where  

(B) f(x)  is continuous every where  

(C) f(x)  is continuous at x = 0 only 

(D) f(x)  is discontinuous at x = 0 only 

58- 3x + 4y – 5z = 0  ds lekUrj (1, 2, 3) ls 

xqtjus okys ry dk lehdj.k D;k gS\ 

(A) 3x + 4y +5z + 4 = 0   

(B) 3x + 4y – 5z + 14 = 0  

(C) 3x + 4y – 5z + 4 = 0   

(D) 3x + 4y – 5z - 4 = 0  
59- ryksa x = 3z + 4 ,oa y = 2z – 3 dh izfrPNsn 

js[kk ds fnd~vuqikr D;k gSa\ 

(A) 〈     〉  (B) 〈     〉 
(C) 〈     〉  (D) 〈     〉 

60- z-v{k ds lekUrj ,oa (a, b, c)  ls xqtjus 
okyh ljy js[kk dk lehdj.k D;k gS\ 

(A) 
   

 
 = 
     

 
 = 

     

 
 

(B) 
   

 
 = 

    

 
 = 

    

 
 

(C) ) 
   

 
 = 

    

 
 = 

    

 
    

(D) ) 
   

 
 = 

    

 
 = 

    

 
 

61-   m
   

 
√     

 
  fdlds cjkcj gS\ 

(A) 0   (B) ½    (C) 1 (D) -1/2 

62-   m
   

 
 (      )

  
   fdlds cjkcj gS\ 

(A) 0     (B) 1/2   (C) 1/4     (D) 1 

63- fuEufyf[kr ij fopkj dhft;s & 

1-   m
   

 
 

  
  dk vfLrRo gSA 

2-   m
   

 
 

 
  dk vfLrRo ugh gSA 

mi;qZDr esa dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 
(C) 1 vkSj 2 nksuksa gh (D) u rks 1 u gh 2 

64- ;fn x  y =   bl izdkj fd 
  

  
 = - 

 

 
   

rc m dk D;k eku gksuk pkfg;s \ 
(A) 0   (B) 1 
(C) 2  (D) mi;qZDr esa dksbZ ugha 

65- Qyu f (x) = 
  

 
 for x ≠ 0 ds fy;s] rFkk  f 

(0) = 0 ckjs esa fuEufyf[kr esa dkSu&lk ,d] 

lgh gS \ 

(A) f(x)  izR;sd txg vlarr gS   
(B) f(x)  izR;sd txg larr gS 
(C) f(x)  dsoy x = 0  ij larr gS   
(D) f(x)  dsoy x = 0  ij vlarr gS 
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66. What is   m
   
  
   

    
 equal to ? 

(A) 0   (B) 1/4 

(C) 1/2  (D) 1 

67. The radius of a circle is uniformly 

increasing at the rate of 3 cm/s. What 

is the rate of increase in area, when 

the radius is 10 cm ? 

(A) 6 π    /s (B) 10 π    /s 

(C)30 π    /s (D) 60 π    /s 

68. Let f :     be a function whose 

inverse is 
   

 
 What is f(x) equal to ? 

(A) f(x)  = 3x + 5 (B) f(x)  = 3x - 5 

(C) f(x)  = 5x - 3 (D) f(x)  does not 

exist 

69. Consider the following statement : 

1. If y = In (sec x + tan x), then 
  

  
 = 

sec x.  

2. If y = In (cosec  x – cot  x), then 
  

  
 = cosec x. 

Which of the above is/are correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1and 2(D) Neither 1 nor 2 

70. If f(x) =      , then what is the 

derivative of f(x) ? 

(A)       In 2 (B) (sin x)         
(C) (cos x)          
(D) None of the above 

71. The function f(x) = x   x    is 

an increasing function for - 

(A) 0 < x < 2 (B) x < 2 

(C) x > 2 or x < 0 (D) all x 

72. Consider the following statement :- 

1. If f(x) = x  and g (y) = y  then f = 

g. 

2. Identity function is not always a 

bijection. 

Which of the above statements is/are 

correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  

(D) Neither 1 nor 2 

66-   m
   
  
   

    
  dk eku fdlds cjkcj gS\ 

(A) 0   (B) 1/4 

(C) 1/2  (D) 1 

67- fdlh o`Ùk dh f=T;k ,dleku :i ls 3 cm/s  

dh nj ls c<+ jgh gSA {ks=Qy esa o`f) nj D;k 

gS] tc f=T;k 10cm gS\ 

(A) 6 π    /s (B) 10 π    /s 

(C)30 π    /s (D) 60 π    /s 

68- eku yhft;s f :      ,d Qyu gS ftldk 

izfrykse 
   

 
  gSA f(x)  fdlds cjkcj gS\ 

(A) f(x)  = 3x + 5 (B) f(x)  = 3x - 5 

(C) f(x)  = 5x - 3  

(D) f(x)  dk vfLrRo ugha gS 

69- fuEufyf[kr dFkuk ij fopkj dhft;s % 

1- ;fn y = In (sec x + tan x), rc 
  

  
 = 

sec x. 

2- ;fn y = In (cosec x - cot x), rc 
  

  
 = 

cosec x. 

mi;qZDr esa dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 

(C) 1 vkSj 2 nksuksa gh (D) u rks 1 u gh 2 

70- ;fn f(x) =      , rc f(x) dk vodyu D;k 

gS\ 

(A)       In 2 (B) (sin x)         
(C) (cos x)          
(D) mi;qZDr esa dksbZ ugha 

71- fdlds fy;s] Qyu f(x) = x   x   ,d 
o/kZeku Qyu gS\ 

(A) 0 < x < 2 (B) x < 2 

(C) x > 2 or x < 0 (D) lHkh x 
72- fuEufyf[kr dFkuksa ij fopkj dhft;s \ 

1- ;fn f(x) = x   rFkk g (y) = y  rc f = 

g. 

2- rRled Qyu ges'kk ,dsdh vkPnknu ugha 

gSA  

mi;qZDr esa dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 
(C) 1 vkSj 2 nksuksa gh (D) u rks 1 u gh 2  
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73. Let A = { x ∈ R | x ≥ 0}. A function  f: 

    is defined by f(x) = x
2
 .Whcih one 

of the following is correct ? 

(A) The function does not have inverse 

  

(B) f is its own inverse 

(C) The function has an inverse but f is 

not is own inverse    

(D) None of the above 

74. If y = In (e   e   )  then what is  
  

  
 at x = 0 equal to ? 

(A) -1    (B) 0       (C) 1 (D) 2 

75. What is the minimum value of | x | ? 

(A) -1     (B) 0     (C) 1 (D) 2 

76. What is ∫   e  dx equal to ? 

 

(A) 
    

    
 + c  (B)   e    

(C) 
    

   (  )
 + c 

(D) None of the above 

Where c is the constant of integration 

77. What is ∫ x|x| 
 

  
dx equal to ? 

(A) 2  (B) 1     (C) 0 (D) -1 

78. What is ∫
      

    

 

 
 dx equal to ? 

(A) 
  

 
     (B) 

  

  
    (C) 

 

 
 (D) 

 

 
 

79. What is ∫ s n  x  n
   

 
  (cot x) dx 

equal to ? 

(A) 0    (B) π In 2 

(C)  π In 2  (D) 
      

 
 

80. What is the area of the portion of the 

curve y = sin x, lying between x = 0, y = 

0 and x = 2π ? 

(A) 1 square unit (B) 2 square units 

(C) 4 square unit (D) 8 square units 

81. What is ∫
    

 
 dx equal to ? 

(A) 
(    ) 

 
 + c (B) 

(    )

 
 + c  

(C) (    )  + c   

(D) None of the above 

Where c is the constant of integration. 
 

73- eku yhft;s A = { x ∈ R | x ≥ 0}.,d 
Qyu f:     , f(x) = x

2
 }kjk ifjHkkf"kr 

fd;k x;k gSA fuEufyf[kr esa dkSu&lk ,d] lgh 

gS\ 

(A) bl Qyu dk izfrykse ugha gS   
(B) f Lo;a dk izfrykse gS 
(C) bl Qyu dk izfrykse gS fdUrq f Lo;a dk 

izfrykse ugha gS    
(D) mi;qZDr esa dksbZ ugha  

74- ;fn y = In (e   e   )   rc x = 0  ij 
  

  
  dk eku D;k gS\ 

(A) -1     (B) 0     (C) 1 (D) 2 

75- | x |  dk U;wure eku D;k gS\ 

(A) -1   (B) 0      (C) 1 (D) 2 

76- ∫   e  dx fdlds cjkcj gS \ 

(A) 
    

    
 + c  (B)   e    

(C) 
    

   (  )
 + c  

(D) mi;qZDr esa dksbZ ugha 

tgk¡ c lekdyu vpj gS 

77- ∫ x|x| 
 

  
dx  fdlds cjkcj gS\ 

(A) 2    (B) 1      (C) 0 (D) -1 

78- ∫
      

    

 

 
 dx  dk eku fdlds cjkcj gS \ 

(A) 
  

 
    (B) 

  

  
    (C) 

 

 
 (D) 

 

 
 

79- ∫ s n  x  n
   

 
  (cot x) dx fdlds cjkcj 

gS\ 

(A) 0    (B) π In 2 

(C)  π In 2  (D) 
      

 
 

80- x = 0, y = 0 rFkk x = 2π  ds e/; fLFkr oØ 

y = sin x, dk {ks=Qy D;k gS\ 

(A) 1 oxZ bdkbZ (B) 2 oxZ bdkbZ 
(C) 4 oxZ bdkbZ (D) 8 oxZ bdkbZ 

81- ∫
    

 
 dx fdlds cjkcj gS\ 

(A) 
(    ) 

 
 + c (B) 

(    )

 
 + c  

(C) (    )  + c   (D) mi;qZDr esa dksbZ ugha 

tgk¡ c lekdyu vpj gS  



 

 

13 

82. What is the area of the region 

bounded by the lines y = x, y – 0 and 

x = 4 ? 

(A) 4 square units (B) 8 square units 

(C) 12 square units (D) 16 square units 

83. What is ∫ (
 

      
 

 

      
) dx equal to 

? 

(A) 2 cosec 2x + c (B) -2 cot 2x + c 

(C) 2 sec 2x + c (D) -2 tan  2x + c 

where c is the constant of integration 

84. What is the degree of the differential 

equation   
   

    
  (

   

    
)
 

 
  

   
 y = 

0 ? 

(A) 6   (B) 3 

(C) 2   (D) 1 

85. Consider a differential equation  of 

order m and degree n. Which one of 

the following pairs is not feasible ? 

(A) (3, 2)  (B) (2, 3/2) 

(C) (2, 4)  (D) (2, 2) 

86. The differential equation representing 

the family of curves y = a sin (λx + α) 

is : 

(A) 
   

    
  λ  y = 0 (B) 

   

    
  λ  y = 0 

(C) 
   

    
  λ y = 0 (D) None of the 

above 

87. The differential equation   
  

   
  x = a 

where 'a' is any constant represent - 

(A) A set of straight lines    

(B) A set of ellipses 

(C) A set of circles    

(D) None of the above 

88. For the differential equation (
  

   
)
 
 

x (
  

   
)  y = 0, which one of the 

following is not its solution ? 

(A) y = x - 1  (B) 4y = x  
(C) y = x  (D)  y = - x – 1 

 

82- js[kkvksa y = x, y – 0 ,oa x = 4  }kjk ifjc) 

{ks= dk {ks=Qy D;k gS\ 

(A) 4 oxZ bdkbZ (B) 8 oxZ bdkbZ  

(C) 12 oxZ bdkbZ (D) 16 oxZ bdkbZ  

83- ∫ (
 

      
 

 

      
) dx fdlds cjkcj gS\ 

(A) 2 cosec 2x + c (B) -2 cot 2x + c 

(C) 2 sec 2x + c (D) -2 tan  2x + c 

tgk¡ c lekdyu vpj gS 

84- vody lehdj.k  
   

    
  (

   

    
)
 

 
  

   
 y = 0 dh /kkrq D;k gS\ 

(A) 6   (B) 3 

(C) 2   (D) 1 

85- dksfV m vkSj ?kkr n okys vody lehdj.k 

ij fopkj dhft;s A fuEufyf[kr esa dkSu&lk ,d 

;qX;k laHko ugha gS\ 

(A) (3, 2)  (B) (2, 3/2) 

(C) (2, 4)  (D) (2, 2) 

86- oØksa y = a sin (λx + α) ds dqy dh fu:fir 

djus okyk vody lehdj.k D;k gS\ 

(A) 
   

    
  λ  y = 0  

(B) 
   

    
  λ  y = 0 

(C) 
   

    
  λ y = 0  

(D) mi;qZDr esa dksbZ ugha 

87- vody lhdj.k   
  

   
  x = a tgk¡ 'a'  

dksbZ vpj gS] D;k fu:fir djrk gS\ 

(A) ljy js[kkvksa dk leqPp;    

(B) nh?kZo`rksa dk leqPp; 

(C) o`Ùkksa dk leqPp;    

(D) mi;qZDr esa dksbZ ugha 

88- vody lehdj.k (
  

   
)
 
 x (

  

   
)  y = 

0 ds fy;s] fuEufyf[kr esa dkSu&lk ,d bldk 
gy ugha gS\ 

(A) y = x - 1  (B) 4y = x  
(C) y = x  (D)  y = - x – 1  
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89. What is the general solution of the 

differential equation x  dy + y  dx = 

0 ? 

(A) x + y = c (B) xy = c 

(C) c(x + y) = xy  

(D) None of the above 

Where c is the constant of integration.  
90. What is the general solution of the 

differential equation e  tan y dx + (1 - 

e ) se    dy = 0 ? 

(A) sin y = c (1 - e )    

(B) cos y = c (1 - e ) 
(C) cot y = c (1 - e )  
(D) None of the above 

Where c is the constant of integration  

91. EFGH is a rhombus such that the 

angle EFG is 60
0
. The magnitude of 

vectors   ⃗⃗⃗⃗  ⃗  and {m   ⃗⃗⃗⃗  ⃗ } are equal 

where m is a sealar. What is the value 

of m ? 

(A) 3     (B) 1.5      (C) √      (D) √  

92. If  ⃗  -  ⃗  = 0 and   ⃗  x  ⃗  =  ⃗  then which 

one of the following is correct ? 

(A)  ⃗  is parallel to  ⃗  

(B)  ⃗  is perpendicular to  ⃗  

(C)  ⃗  =  ⃗  or  ⃗  =  ⃗  
(D) None of the above 

93. The vector  ⃗  x ( ⃗  x  ⃗  )  is coplanar 

with : 

(A)  ⃗  only  (B)  ⃗  only 

(C) Both  ⃗  and  ⃗   

(D) Neither  ⃗  nor  ⃗  
94. Consider the following : 

1. 4 ̂ x 3 ̂  ⃗   2.  
  ̂

  ̂
 = 

 

 
 

Which of the above is/are correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  

(D) Neither 1 nor 2 

95. What is the value of  λ  for which  

(λ  ̂   ̂   ̂) x(3  ̂    ̂    ̂) =(2  ̂  

   ̂    ̂) ? 
(A) 2     (B) -2    (C) 1 (D) 7 

89- vody lehdj.k x  dy + y  dx = 0 dk 

O;kid gy dkSu&lk gS\ 

(A) x + y = c  (B) xy = c 

(C) c(x + y) = xy  

(D) mi;qZDr esa dksbZ ugha 

tgk¡ c lekdyu vpj gS 

90- vody lehdj.k e  tan y dx + (1 - e ) 

se    dy = 0 dk O;kid gy dkSu&lk gS\ 
(A) sin y = c (1 - e )  

(B) cos y = c (1 - e ) 
(C) cot y = c (1 - e )  

(D) mi;qZDr esa dksbZ ugha 

 tgk¡ c lekdyu vpj gS 

91- EFGH ,d leprqHkqZt gS ftldk dks.k EFG 

60
0 
gSA lfn'k   ⃗⃗⃗⃗  ⃗ ,oa {m   ⃗⃗⃗⃗  ⃗} ds ifjek.k 

cjkcj gSa] tgk¡ m ,d vfn'k gSA m dk eku 

D;k gS\ 

(A) 3   (B) 1.5 

(C) √   (D) √  

92- ;fn  ⃗  -  ⃗  = 0 ,oa   ⃗  x  ⃗  =  ⃗  rc fuEufyf[kr 
esa dkSu&lk lgh gS\ 

(A)  ⃗  lekUrj gS  ⃗  ds    

(B)  ⃗  yEc gS  ⃗  ds 

(C)  ⃗  =  ⃗  vFkok  ⃗  =  ⃗     
(D) mi;qZDr esa dksbZ ugha 

93- lfn'k  ⃗  x ( ⃗  x  ⃗  ) fdlds lkFk leryh; gS\ 

(A) dsoy  ⃗   (B) dsoy  ⃗  

(C)  ⃗  ,oa  ⃗  nksuksa       (D) u rks  ⃗  u gh  ⃗  
94- fuEufyf[kr ij fopkj dhft;s & 

1. 4 ̂ x 3 ̂  ⃗   2.  
  ̂

  ̂
 = 

 

 
 

mi;qZDr esa dkSu&lk@ls lgh gS@gSa\ 
(A) dsoy 1  (B) dsoy 2 
(C) 1 rFkk 2 nksuksa gh (D) u rks 1] u gh 2 

95- λ dk D;k eku gS ftlds fy;s 
(λ  ̂    ̂   ̂) x(3  ̂    ̂    ̂  = 

(2 ̂     ̂    ̂) ? 

(A) 2   (B) -2 

(C) 1   (D) 7 
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96. The magnitude of the scalar p for 

which the vector p (-3 ̂     ̂     ̂) is 

of unit length is - 

(A) 1/8  (B) 1/64 

(C) √     (D) 1/√    

97. The vector 2 ̂    ̂ lies – 

(A) in the plane of XY  

(B) in the plane of YZ 

(C) in the plane of XZ     

(D) along the X-axis 

98. ABCD is a parallelogram. If   ⃗⃗⃗⃗  ⃗ =  ⃗  , 

  ⃗⃗⃗⃗  ⃗ =  ⃗ , then what is   ⃗⃗⃗⃗  ⃗ equal to ?  

(A)  ⃗  +  ⃗   (B)  ⃗  -  ⃗  

(C) -  ⃗  -  ⃗   (D) -  ⃗  +  ⃗  
99. What is the geometric mean of the 

sequence     1, 2, 4, 8, ……., 2n ? 

(A)       (B)  (   )   
(C)  (   )    (D)  (   ) 

100. The mean of 10 observations is 5. If 2 

is added to each observation and then 

multiplied by 3, then what will be the 

new mean ? 

(A) 5     (B) 7      (C) 15     (D) 21 

101. What is the mean of first n odd natural 

numbers ? 

(A) n   (B) (n + 1)/2 

(C) n(n + 1)/2 (D) n + 1 

102. The aritbmetic mean of numbers a, b, c, 

d, e is M. What is the value of (a - M) + 

(b - M) + (c - M) + (d - M) + (e - M) ? 

(A) M          (B) a + b + c + d + e 

(C) 0   (D) 5 M 

103. The algebraic sum of the deviations of 

20 observations measured from 30 is 2. 

What would be the mean of the 

observations ? 

(A) 30     (B) 32   (C) 30.2    (D) 30.1 

104. The median of 27 observations of a 

variable is 18. Three more observa-

tions are made and the values of these 

observations are 16, 18 and 50. What is 

the median of these 30 observations ? 
(A) 18 (B) 19     (C) 25.5  

(D) Can not be determined due to 

insufficient data 

96- vpj P dk ifjek.k D;k gS ftlds fy;s lfn'k         

(-3 ̂     ̂     ̂) ,dkad yEckbZ gS\ 
(A) 1/8  (B) 1/64 

(C) √     (D) 1/√    

97- lfn'k 2 ̂    ̂ fdlesa fLFkr gS\ 
(A) XY ds ry esa (B) YZ ds ry esa 
(C) XZ ds ry esa (D) X-v{k ds vuqfn'k 

98- ABCD ,d lekarj prqHkqZt gSA ;fn   ⃗⃗⃗⃗  ⃗ =  ⃗  

,   ⃗⃗⃗⃗  ⃗ =  ⃗ , rks   ⃗⃗⃗⃗  ⃗  fdlds cjkcj gS\ 

(A)  ⃗  +  ⃗   (B)  ⃗  -  ⃗  

(C) -  ⃗  -  ⃗   (D) -  ⃗  +  ⃗  
99- vuqØe 1, 2, 4, 8, ……., 2

n
 dk xq.kksrj 

ek/; D;k gS\ 

(A)       (B)  (   )   

(C)  (   )    (D)  (   ) 
100- 10 izs{k.kksa dk ek/; 5 gSA ;fn izR;sd izs{k.k esa 

2 tksM+k tk;s vkSj fQj mlesa 3 ls xq.kk fd;k 

tk,] lc u;k ek/; D;k gksxk \ 

(A) 5   (B) 7 

(C) 15  (D) 21 

101- izFke n fo"ke /kuiw.kkZd la[;kvksa dk ek/; D;k 

gS\ 

(A) n   (B) (n + 1)/2 

(C) n(n + 1)/2 (D) n + 1 

102- la[;kvksa a, b, c, d, e dk lekarj ek/; M gSA  

(a - M) + (b - M) + (c - M) + (d - M) 

+ (e - M) dk ek/; D;k gS\ 

(A) M          (B) a + b + c + d + e 

(C) 0   (D) 5 M 

103- 20 izs{k.kksa dk 30 ls ekfir fopyuksa dk chth; 

;ksx 2 gSA izs{k.kksa dk ek/; D;k gksxk \ 

(A) 30  (B) 32 

(C) 30.2  (D) 30.1 

104- fdlh pj ds 27 izs{k.kksa dh ekf/;dk 18 gSA 

rhu T;knk izs{k.k fy;s x;s vkSj bu izs{k.kksa ds 

eku 16] 18 ,oa 50 gSaA bu 30 izs{k.kksa dh 

ekf/;dk D;k gS\  

(A) 18     (B) 19   (C) 25-5   
(D) vi;kZIr vkadM+ksa dh otg ls Kkr ugha dj 

ldrsA 
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105. Frequency curve may be - 

(A) symmetrical (B) positive skew 

(C) negative skew (D) all the above 

106. The monthly family expenditure (in 

percentage) on different items are as 

follows - 
 

Food Ront Cloth Transport Education Others 

38 19 18 - 9 6 
 

If the total monthly expenditure is Rs. 

9000, then what is the expenditure on 

transport ? 

(A) Rs. 180  (B) 1000 

(C) Rs. 900  (D) 360 

107. If the mean of few observations is 40 

and standard deviation is 8, then what 

is the coefficient of variation ? 

(A) 1%  (B) 10% 

(C) 20%  (D) 30% 

108. What is the standard deviation of 7, 9, 

11, 13, 15 ? 

(A) 2.4   (B) 2.5     (C) 2.7    (D) 2.8 

109. Which one of the following is a 

measure of dispersion ? 

(A) Mean  (B) Mcdian 

(C) Mode      

(D) Standard deviation 

110. Let X and Y be two related variables. 

The two regression lines are given by 

x – y + 1 = 0 and 2x – y + 4 = 0. The 

two regression lines pass through the 

point : 

(A) (-4, -3)  (B) (-6, -5) 

(C) (3, -2)  (D) (-3, -2) 

111. If P(E) denotes the probability of an 

event E, then E is called certain event 

if : 

(A) P(E) = 0  (B) P(E) = 1 

(C) P(E) is either 0 or 1  

(D) P(E) = 1/2 

112. What is the probability that a leap 

year selected at random will contain 

53 Mondays ? 

(A) 2/5    (B) 2/7    (C) 1/7    (D) 5/7 

105- ckjackjrk oØ D;k gks ldrk gS\ 

(A) lefer  
(B) /kukRed fo"keryh; 
(C) _.kkRed fo"keryh;  
(D) mi;qZDr lHkh  

106- fofHkUu enksa ij ikfj[kkfjd ekfld [kpZ 

¼izfr'kr esa½ fuEufyf[kr gS % 
 

[kk| fdjk;k diM+s ifjogu f'k{kk vU; 

38 19 18 - 9 6 
 

;fn dqy ekfld [kpZ #- 9000 gks] rks ifjogu 

ij [kpZ D;k gS\ 

(A) # 180  (B) # 1000 
(C) # 900  (D) # 360 

107- ;fn dqN izs{k.kksa dk ek/; 40 gks rFkk ekud 

fopyu 8 gks] rc fopj.k xq.kkad D;k gS \ 

(A) 1%  (B) 10% 

(C) 20%  (D) 30% 
108- 7, 9, 11, 13, 15 dk ekud fopyu D;k gS\ 

(A) 2.4  (B) 2.5 

(C) 2.7  (D) 2.8 

109- fuEufyf[kr esa dkSu&lk ,d] ifj{ksi.k&eki gS\ 

(A) ek/;  (B) ekf/;dk 
(C) cgqyd  (D) ekud fopyu 

110- eku yhft;s X ,oa Y nks lEcfU/kr pj gSA nks 

lekJ;.k & js[kk;sa x – y + 1 = 0 ,oa 2x – 

y + 4 = 0 nh xbZ gSA ;s nks lekJ;.k&js[kk;sa 

fdl fcUnq ls xqtjrh gSa\ 

(A) (-4, -3)  (B) (-6, -5) 

(C) (3, -2)  (D) (-3, -2) 

111- ;fn P(E) fdlh ?kVuk E dh izkf;drk n'kkZrk 

gS] rks E  fuf'pr ?kVuk dgykrk gS ;fn%  
(A) P(E) = 0  

(B) P(E) = 1 

(C) P(E) ;k rks 0 gS ;k 1  
(D) (D) P(E) = 1/2 

112- ;kn`fPNdr;k oj.k fd;s x;s fdlh yhio"kZ esa 53 

lkseokj gksus dh izkf;drk D;k gS\ 

(A) 2/5   (B) 2/7 

(C) 1/7   (D) 5/7 
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113. If A and B are two events such that 

P(A ∪ B) = 
 

 
, P(A ∩ B) = 

 

 
, P( ̅) = 

 

 
 

where  ̅ is the complement of A, then 

what is P(B) equal to ? 

(A) 1/3  (B) 2/3 

(C) 1/9  (D) 2/9 

114. Three coins are tossed simultane-

ously. What is the probability that 

they will fall two heads and one tail ?  

(A) 1/3  (B) 1/2 

(C) 1/4  (D) 3/8 

115. Which one of the following is  correct 

? 

(A) An event having no sample point 

is called an elementary event   

(B) An event having one sample point 

is called an elementary event 

(C) An event having Two sample 

point is called an elementary event  

(D) An event having many sample 

point is called an elementary event 

116. What is the most probable number of 

successes in 10 trials with probability 

of success 2/3 ? 

(A) 10  (B) 7 

(C) 5   (D) 4 

 

FOR THE NEXT TWO (02) 

QUESTIONS THAT FOLLOW : 

An urn contains one black ball and 

one green ball. A second um contains 

one white and one green ball. One 

ball is drawn at random from each 

urn. 

117. What is the probability that both balls 

are of same colur ? 

(A) 1/2   (B) 1/3 

(C) 1/4   (D) 2/3 

118. What is the probability of getting at 

least one green ball ? 

(A) 1/2   (B) 1/3 

(C) 2/3   (D) 3/4 

113- ;fn A vkSj B nks ?kVuk,a gSa ftlds fy;s P(A 

∪ B) = 
 

 
, P(A ∩ B) = 

 

 
, P( ̅) = 

 

 
 tgk¡ 

 ̅] A dk iwjd gS] rc P(B) fdlds cjcj gS\ 

(A) 1/3  (B) 2/3 

(C) 1/9  (D) 2/9 

114- rhu flDds ;qxir~ mNkys x;sA muds nks gSM ,oa 

,d Vsy ds fxjus dh izkf;drk D;k gS\ 

(A) 1/3  (B) 1/2 

(C) 1/4  (D) 3/8 

115- fuEufyf[kr esa dkSu&lk ,d lgh gS\ 

(A) ,d ?kVuk ftlesa dksbZ Hkh izfrn'kZ fcUnq 

ugha gS] izkjafHkd ?kVuk dgykrh gS   
(B) ,d ?kVuk ftlesa ,d izfrn'kZ fcUnq gks] 

izkjafHkd ?kVuk dgykrh gS 
(C) ,d ?kVuk ftlesa nks izfrn'kZ fcUnq gksa] 

izkjafHkd ?kVuk dgykrh gS    
(D) ,d ?kVuk ftlesa vusd izfrn'kZ fcUnq gksa] 

izkjafHkd ?kVuk dgykrh gS 

116- 10 Vªk;yksa esa] ftlesa lQyrk dh izkf;drk 2@3 

gks] lQyrkvksa dh izkf;dre la[;k D;k gS\ 

(A) 10  (B) 7 

(C) 5   (D) 4 

 

vkxs vkus okys nks ¼02½ iz'uksa ds fy;s% 

,d dy'k esa ,d dkyh xsan ,oa ,d gjh xsan 

gSA 

nwljs dy'k esa ,d lQsn xsan ,oa ,d gjh xsan 

gSA 

izR;sd dy'k ls ,d xsan ;n`pN;k fudkyh tkrh 

gSA 
117- nksuksa xsanks ds leku jax dh gksus dh izkf;drk 

D;k gS\ 

(A) 1/2  (B) 1/3 

(C) 1/4  (D) 2/3 

118- de ls de ,d gjh xsan ds feyus dh izkf;drk 

D;k gS\ 

(A) 1/2   (B) 1/3 

(C) 2/3   (D) ¾ 
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FOR THE NEXT TWO (02) QUESTIONS 

THAT FOLLOW : 

Two dice each numbered from 1 to 6 

are thrown together. Let A and B be 

two events given by  

A : even nember on the first die 

B : number on the second die is 

greater than 4 

119. What is P(A ∪ B) equal to ? 

(A) 1/2   (B) 1/4 

(C) 2/3   (D) 1/6 

120. What is P(A ∩ B) equal to ? 

(A) 1/2   (B) 1/4 

(C) 2/3   (D) 1/6 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

vkxs vkus okys nks ¼2½ iz'uksa ds fy;s % 

nks ik'kdksa dks] tks la[;k 1 ls 6 rd fpfUgr 

gSa] ,d lkFk Qsadk x;k gSA eku yhft;s A vkSj 

B nks ?kVuk,a fuEufyf[kr nh xbZ gS % 

A : izFke ik'kd ij le la[;k gS 
B : f}rh; ik'kd ij la[;k 4 ls cM+h gS 

119- P(A ∪ B) fdlds cjkcj gS\ 

(A) 1/2   (B) 1/4 

(C) 2/3   (D) 1/6 

120- P(A ∩ B) fdlds cjkcj gS\ 

(A) 1/2   (B) 1/4 

(C) 2/3   (D) 1/6  
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